weld

o

L

)
o~

actistdy

-y

bl

Name

1. Chonse

on

e correct symbol
ax 1 point

413,202 < 445,692

Sample answers:
59,329

0. 15,362 © Yes () No
ab. 53,376 Ci¥es © Mo
ac. 25,562 @ ves (1 Ho
ad. 45,662 ® Yes () No

Ehurment @

Topic T

[y -

45,392
24,034

+ 4

+ 5
Sunshine Park: 20,000
,000 + 900 + 30 + 4;
Fountain Park: 20,000

+ 6,000 + 600 -+ 40 + 7

>= Uom_m Park: ao 000

mber of peaple
ferent doq parks

000 -+ 300 -+ 90 + 2;

i
|
|

o

6. Patrick writes 20,033 in expanded form.

10. The table shaws the number of ¢

Wh Patrick write? 1 point ast four baseball games.
TP ——— Baseball Game Attendance
(20,000 + 30 + 3
et Game | Number of People
7. e value of the 1 45,753
e pitie 42,250
left ta the numbers on theright. 1 point ORI -5 S
Il 43,160
_ 83, ~=a 8,000 |
ey e 2 a 41,779
_ 84,794 BO |
ooy \ PartA |
LU Which of the 4 games hadl the least
— number of peaple? the greatest number
number of peaple at each of these games.
irty-nine 2 points

erl fourteen written
7 1 point

@ 200614
® 230,014

© 239614
© 392,146

PartB

~m ,647; ,_._,m <m_:m of
the 6 in the thousands
place is ten times the
value of the 6 in the

hundreds place.

i b o b e Ay M e

it that represents ten
i

9. Chaose Yes or No to
comparlson s correct. 1 point
92.65215 > 65512 O Yes ® No
9b.292.200+2 229200 ) Yes ® No
9c. #90242 890224 @ Yes () o
9d. 101111111111 @ Yes ) No

®Aesment e

mmz._mn;c..nu?c:m “,
thousand, seven [
hundred seventy-nine; |
Game 1; forty-five
thousand, seven

hundred fifty-three

PartB

Draw a place-value chart, Record the |
attendance for Game 2. Explain how the
value of the 2 in the thousands pl;
campares with the value of the 2
Iundreds place, 3 points

Check students’ work.
Sample answer: The 2in it
the thousands place is
ten times greater than the
the hundreds place.
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* PearsonReglize.com

f ltem Analysis for .
. 3 Diagnosis and Intervention

Name

6. The Nile River j5 7,088 kilometers long.
The Amazon

10. Nikolas and Jayson recorded the number
of miles each ran aver two years,

!
|

b
Miles Ran \
Baseball Game Attendance LastYear | 1,362 01

5 10 connect equal expres Y ol
| 1po
! ey
S i i Tiﬁ 18500, 650 |
T -y | ® 95,578 peaple Ll Bl ;

: = "
© 96,078 people ! i Tubua, 67,408/ 8,252
PartA

s Nikolas and Jaysoy
ranlast year than this year. 2 points

IPg s oyovs] @ oppig

= |
i vlwm o st | Sample answer: W
=t T\ —
el compensation R AN Y 1,362 + 948 = 2,319 1 Gl16
a 17,634 - |
6,000 - 2,000 + 3,000 B. In Auqust, Jo's Plzza Shop sald 982 + 1,013 = 1,905 [
’ 5 . ) ' 7236 pizzas. n September, 5,957 pizzas 2,310 — 1,995 = 315 ;
= 11,000 people n were sol is the t her i |
- ST S @ N of pizzas sold? 1 point ,.a._‘[o.‘m(ql-m_vmm!' ._ O ._ 0 "
Partn | !
e find the © Yes () N 13,193 pizzas Estimate how many more miles w; ! M OO ! Y
o i an last year : i
e SUMBERENG o —— s il ran |
i 9 N properties to ble to the nearest
Sample answer:
5,753 + 2,250 + 3,160 @ Yes (1 o i
' - 2 R .

heproblem. Use |

n mi ve wil eckifyour answerto |

=mn=11,163 people

“n 1 point

125 (3001 Part Al reasanable. 3 points ._ O ._ ”
e —— 0 30011251 75~ Sample answer: |

O 1251300~ 5 1,400 + 900 = 2,300 {

Dwaa.d_.:.: 1,000 + 1,000 = 2,000 ‘
@ @oo 1 75) 4 125=n 2,300 - 2,000 ! &
@ 025175 1300~ = 300 miles

300is close to 315, so ” ! V \x&ﬁmz
8

B ] Glé6 = |

@ a50tickets

sentence shows, 2 po

® 550 1ickets

19200 £ 75) 1 5= .4,200' 1 (751 5)

>,muonmm:<m _u..o_um;ws]
of Addition

1 G18,G19

my answer is reasonable.| |

Ehnennen @ LY T— @ A bt . s i o
i

flem  Points Topic Assessment (Student's Edition and Masters)

4.0A A3, MP2 |
1 Correct answer - .
. ........‘............................-.................. SR S imieie 4680 b Fimmie are T2 tleieie wie S0 Se R e wese ceee l—lrm HOUNO >mmmmm3m:#gOM#m_\m Qmmmmm —.—Jm waam
2 Correct equation and answer content item for item as the Topic Assessment in
1 Correct equation or answer the Student’s Edition.
2 1 Correct choice selected

3 ] Correct choice selected
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Topic Assessment Masters

Name

Topic 3
®

1. Dorian stores his baseball card collection
in 4 boxes. Each box holds 217 cards. How
many cards are in Dorian’s collection?
Choose numbers from the box to
complete and solve the problem. 1 point

217 [ 35
X 4
28 40 170
0 800
+ 800 28
868; 888 868

swer: 195

00 so
200 and
X 5;

3. Mrs. Wallingford sells trading cards in
boxes of 30 and in boxes of 60. f she
sells 5 boxes of 60, how many trading
cards did Mrs. Wallingford sell? 1 paint

® 30trading cards
@ 300 trading cards
© 350trading cards
© 3,000 trading cards

4. Elliot's father drives 2,037 miles each
month. How many miles does he drive in
4months? 1 point

| 8,148 miles

5. The Bumblebee Bakery is taking orders
for cupcakes. The cupcakes are sold in

boxes.
Number
Cupcakes of Boxes
Strawberry Créme 37
Blackberry Bliss 72
Chocolate Delight 43
PartA

There are 8 Blackberry Bliss cupcakes in
each box. Write and solve an equation to
find how many Blackberry Bliss cupcakes
were ordered. 2 points

8x72=0b;

b = 576 Blackberry

Bliss cupcakes

8 8x1¢9=\80 [8x7=56

cupcakes

R ——

6. Select all the expressions that could be
used to find the area of a rectangular
driveway that is 327 feet long and
9 feet wide. 1 point

O 32709

@ 9x327

B 9xpo+20+7)

@ (9 %3000 = (9 x 20)=(9 x 7)
0O 9+@00+20-7)

7. Each storage box holds 224 oaments.
Draw an array to show and ifd the

80 + f 1
Surprise Assortment J i

8. Wakeboards cost $1,149. Find the cost
for 3 boards. Explain how you know your
answer is reasonable. 2 points

$3,447; Sample answer:
1 wakeboard is about
51,000, so 3 wakeboards
are about $3,000. $3,447
is close to $3,000, so my

| answer is reasonable.

9. The table shows the number of
sandwiches sold in a busy deliin

1 month.

Type | Number
Chicken ! 230
Roast Beel 189
Ham | 305
Turkey | 267

PartA

If the same number of turkey sandwiches
were sold for 4 months in a row, how many
guikey sanduiches would b soldn all

1]

1,068 turkey sandwiches

PartB

If the same number were sold each
month, how many roast beef sandwiches
and ham sandwiches would be sold in

6 months? Explain. 2 points

2,964 sandwiches;
Sample answer: |
189 + 305 = 494; |
494 X 6 = 2,964

Y
10. Bgtimate to check if each proguct is
redsonable. Choose numberd from

13. A copy clerk makes 4 copies of a
256-page document. How many pages
were copied? Drav/ a bar diagram to
solve the problem. 2 points

p

s se—— |

i[256]256]256]256] |

17. Mr. Brouard would like to purchase
3 laptop computer for each of his
2 daughters and 1 son. The computers
each cost S387.
PartA

Mr. Brouard thinks the total cost
should be about $1,100. Is this amount

1p = 1,024 pages

14. Rudy’s Pizza makes 317 pizzas and
54 subs every day. How many items
are made in 3 days? 1 point

{1113 items

11. Which expression shows how to use
breaking apart to find 3 % 1567 1 point

® BxN+Ex5+Bx6)

@& (3 x100)+(3 * 500+ (3 x6)
© (3%100)+(3 %5 +(3x6)
® (3% 1)+(3 % 50) (3 X 600)

12. Maria earns 5183 per manth for

15. Each package holds 72 markers.
Mr. Alvarez has 4 packages. Wite
and solve an equation that can be
used to find the number of markers
Mr. Alvarez has 2 points

[z ]]x]

4xX72=m;
= 288 markers

16. A carpenter bought 3 boxes of nails.
Each box has 218 nails. Which is the
best estimate for the total number of
nails purchased? 1 point

@ 200
® 400
© s00
® s00

.S —

Explain. 2 points

|3 X $400 or §1,200.
i Since the actual cost for
| a computer is less than
$400 the actual cost |
! will be less than $1,200. |
| Therefore, $1,100is a ’
|

13 X $387 is about l
i

PartB

Wite and solve an equation to find the
total cost of the computers. Explain why
your answer is reasonable. 3 points

Sample answer:

I3 x 5387 = c |
c=81,161; ‘
I3 x $400 = §1,200; |
!'51,2001s close to |
§1,161, so my answer |

{is reasonable,

18. Draw lines to match the total nyfmber of
boaks with the total number ¢f pages for
that bpok. 1 point

| Nifmber
B\Qk'ﬂlle I {‘Pms

Math Mysteries

Daily Dictionan

r
3 and

Séuex

1 point

The Topic Assessment Masters assess the same content item for item as the
Topic Assessment in the Student's Edition.




|
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|
|
|

- W (5 X 600) + (5 X 10) + (5 X 7) o Z poinis your answer is reasonable. 3 poinis can Bc_mmumv\ 4 x 200 and
> — - s then sublraci 6 x 5;
12. Ivan earned $115 a month for working at [ ][] | Sample answer: 1,800 — 30 = 1,770
. = - & - r .
.\\lv the grocery store. Which are reasonable b ox m.ttw = mn k= mrmoon
W estimates for the amount of money Ivan g x b= p I x Sh0% = $1,600;

would have if he saves all of the money
he earns for 6 months? 1 point

() s200

51,0600 is close f0 $1,648, so
my cnswer is regsonable.

20. Select all the partial products for 8 X 321.

600 16. Mrs. Henderson bought 4 boxes of facial
$ v 9 1 poin!
@ $700 tissues. Each box has 174 tissues. Which . 8
is the best estimate for the total number
(3 31,200 of tissues Mrs. Henderson bought? 1 poini O so
. (3 s1.500 ® 200 160
® 800 () 1,600
© 1,200 2,400
® 1,740 L
Topic 3 | Assessment 163 164 Topic 3 | Assessment “ Prarson Education, Ine. 4
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Topic Assessment Masters

Topic &
@

1. Mr. Luca bought 28 notebooks. 5. Graham swam 14 laps 12 times in May.
Each notebook has 54 pages. Which He swam 15 laps 16 times in June.
expression shows 2 good way 1o _—
use rounding to estimate the total
number of pages in the notebooks
Mr. Luca purchased? 1 point

® 20 % 50 ® 30 x 50

Draw arrays or area models to find the
number of laps Graham swam during the
twomonths. 2 points

6. Joey's scout troop is building
14 birdhouses. Each birdhouse uses
30 nails. How many nails does the
troop needinall? 1 point

420 nails

7. Ms. Suh bought fabric for her drapery
business. Each bolt of fabric costs $40.
Draw lines to match the number of bolts
with the total cost. 1 point

" sobolts_
| 35bolts 7

20bolts L
| Dby R SR WO e

o e
15bolts  —— $600
SRR o
B."Nika puts 42 beads in each n?ﬂ(e.
- Whic] e best way to ugeCompatible
o numbers 10 fumber of

—_—
® 20xe0 @ mx60 Sample answer: |
2.There are 32 crates. Each crate holds =
27 tans of soup. Select all thé expressians
that are NOT good ways {¢’use compatible | "
numbers number of cans 140 !
in the crates. : 228
’ =t} 168 laps
30 % 20 4 4 in May
aroups groups
of10  of2 15
x16
10% 10| --10x6 30
60
sx10| <rsxe , 20
3. There are 23 students in Mrs. Lee's class. 2100
Each student has a box containing 280 laps
28 pastel crayons, Use rounding to 168+ 240 = 408 laps InJine
estimate the total number of pastel
i . - PartB
crayons in Mrs. Lee's class. 1 point
Whte and solve equations ta gépresent
Sample answer: yourrrays or area models. 4 paints

20 X 30 = 600 crayons

4. The pizza parlor uses 20 pieces of
pepperoni on each large pizza. The
pizza parlor made 60 large pizzas.
How many pieces of pepperoni were
used on the large pizzas? 1 point
® 40 pieces ® 1.200 pieces

® 120pieces  © 12,000 pieces

——

9. Each box of math books has 18 books.
Write each number from the box in the
cortect space in the table to sh

numbeof books in each nu
n(huxe‘s.\\{uint

Nurber of | Number of
Bo: Math Books

10. Abakery has 12 bins of bagels Each bin
is filled with 37 bagels. Use praperties
of operations to find the tz.al number
of bagels. Use rounding to check if your
answer is reasonable. 3 points

Sample answer: Break
37into 30 + 7 and
use the Distributive
and the Associative
Properties.

12 X (30 + 7)

(12 x 30) + (12 X 7)
360 + &4 = 444;
Round 37 to 40.

12 X 40 = 480.480
is close to 444, so the
answer is reasonable.

11. Mrs. Ander's garden has 12 rows of
blue flowers. Each row contains 16 blue
flowers. Write and solve an equation
1o find the number of blue flowers in
Mrs. Ander’s garden. 2 points

12 x 16 = p;
p = 192 flowers

o 180 12. Ivory makes S18 2 day babysitting. Which
/ 30 540 expression would you use to find how
much Ivory earns if she works 20 days in
50 | %0 Smonths? 1 point
60 1.080 ® 20x20 ©0xs -
S
® 20x18 © 18x18
G Asessment @ N —

|

13. Sam has 23 pages in his stamp album. 9. A small order of boxed lunches has
12 sandwiches, and  large order h

Each page holds 24 stamps. Sam wants
to find how many stamps will fit in his
entire album. Which partial product is
missing from Sam's work? 1 point

® 40 23
® 60 Xx24
12

© 8o -+
© 9 s
+400

14, Tina bought 15 Thank You cards on
sale for 57 cents each. She used partial
products to find the total cost in cents.
Which are NOT possible partial products
for 15 x 577 1 point

18, Beverly is working on practice problems to
prepare for a math test Which expression
shows one way she can use partial
products tofind 48 X 507 1 point

® {40 x 50) + (40 % 8)
(4 % 50) + (40 X B)
@ (40 x 50) = (B X 50)
® (4x10)+(8 %10

19. The lawn service charges 85 1o mow,
weed, and fertilize 2 lavin. How much did
the lawn service earn if15 lawns were

22, Josie provides catered meals for $12”
per meal. She recorded the numbeér
f catered meals she provided oyer a
ur-month period.

Jasie's Catering

\Mumh Number of

Yy s [
Jhine |
Y 19
ook ]~

tended in June and 23 lawns. ded
in July? Write and solve equations. 2 points|

15 +23 = [;]1 =38

lawns; 38 X S85 = ¢g;
e = 83,230

)’ 20. The football team got 25 new jerseys.

Oss

D 70 Part B

O 20 Use acz_»value strategies or praperties

- of opetations to find how ma;

700 for 23 large |
ckif your

15. Spencer drew an area model to find
16 X 13. Write the partial product for each
rectangle in the area model. 1 point

o2k
Cle x 10 = 60
bl X3 =18

16. A baker’s dozen has 13 muffins. Serena

ordered 30 baker's dozens. How many
muffins did Serena order? 1 point

390 muffins

il Semm—

The price for each jersey was $76. What
was the cost for all the jerseys? Use each
number from the box once to complete
and solve the problem. 1 point
25
X76

1o estimate how
much Josigeamed cafering meals during
the four-mopth perigfh. 2 points

X 12;8100
+ 8150 +\GZOO +
= §700 ‘

—

Comrrs e e v s At

The Topic Assessment Masters assess the same content item for item as the

Topic Assessment in the Student’s Edition.




1O TINa tne total Cost In cents. vvinn
are NOT possible partial products for
25 x 177 1 poini

35
O so
@ s0
O 140
@ 170

15. Lorin drew an area model to find 19 X 15.
Write the partial product for each
rectangle in the area model. 1 _uom.:»

10 5

A (10 x 10 = 100
B(I0x5=50 )
c(2x10=90 )
pExs5=u5 )

16. The librarian ordered 29 sets of
bookmarks. Each set contained
20 bookmarks. How many bookmarks
did the librarian order? T poin

ﬁ 580 bookmarks w

(A

Go7 | 15 4:NBT.

50
5x10|5x8 + ._OO
270 chairs
PartB

Use place-value strategies or properties
of operations to find how many chairs
are at 19 small tables. Use rounding
to check if your answer is reasonable.

2 poinis
( )
Sample answer:

12 x 19

=(10+2) x (10 + 9

= (10 x 10) + (10 x 9) +
(2 x 10} + (2 x 9
100 +90 + 20 + 18
228 chairs

0 x 20 = 200

200 is close to 228.

The answer is reasonable.

Topic4 | Assessment 245

10 ANB
4.0A.A3

18 + 23 = i i = L1 irees;
78 x 41 = ¢;c = $3,198

20. A school bought 28 new microscopes.
The price for each microscope was
$87. What was the cost for all the
microscopes? Use each number from
the box once to complete and solve
the equation. 1 poini

28

21. Tori's goal is to learn 15 new Spanish
words each day. If Tori meets her goal,
how many new Spanish words will she
have learned after 40 days? 1 _uom:*

ﬁ 600 new words

246 Topic4 _ Assessment

how much Philip earned during the
one-month period. 2 points

Sample answer:

Week A: Use 10 x 15 for
11 x 15; 150

Week B: Use 10 x 25 for
11 x 2h; 250

Week C: Use 10 x 20 for
11 x 22; 200

Week D: Use 10 x 20 for
11 x 18; 200

150 + 250 + 200 +
200 = $800

 Pearson Education, Inc. 4
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Name

Topic 5

1. Tim earned $124 washing 6 cars.
He earned the same amount for each
car. Select all the equrations that show
reasonable estimates for the amount
Tim earned washing each car. 1 point

O s200+5=s40

) s100+6=s10
O 5200+ 4=s50

2. Mr, Morettl saves an equal amount of
money each month for 8 months. He is
saving 1o buy a boat that costs $2,400,
Oraw a bar diagram, Write and solve
an equatlon to find how much money
Mr. Morettl needs to save each month to
buy tie boat. 3 points

$2,400
blbTbiblblbib]E]
$2,400 + 8 = b;
! b = $300

4. Sam has 575 photos printed. He puts
an equal number of photos into each
of 5 albums.

PartA

Wrlte an equation to show the number -

of photos Sam put in each album. 1 polnt!

Sample answer; i
575 +5=p ;

PartB

Complete the model. How many photos
did Sam putin each album? 2 polnts

115 photos

i 3 Mrs. Brooks has 34 yards of ribbon to

H make wreaths, Each wreath requires

5 yards of rlbbon, How many wreaths
can Mrs, Brooks make? How many yards
will she have left? 2 polnts

6 wreaths; 4 yards

left over

i
i

@hssestmeat @

5, The cost of a camplng trip was $2,484,
The cast was divided equalty among
& families. How much money did each
familly pay? 1 point

@ s224
@ s414
© sds0
© s4am1

o et ne o e AR N

{ 6. Lindalikes origamf. She plans to make

8 orlgami flowers each day until she has
37 flowrers. Draw an array to find hove
many days it will take Linda te fold all of
| the flowers. Explain. 2 points

O)([@[@)fd

s o)

i )9S |©)

[elelefolel

olleliolle
: allelelo
Sample answet:

37 + 8 = 4R5;Linda
can assemble 8 flowers
aday for 4 days, and she
] will fold 5 flowers the

i Isthday,

i 7. Draw tines to match the expression to
H the estimated quotient. 1 point

s30+9 K

" Abaut1on

About 60,

i i 78
: | 4r5+86

8. There are 4,200 beads in a box. There

are 6 bags of beads In each box, If each
bag has the same number of beads, how
many beads are In each bag? 1 point

700 beads

9. Chaase Yes or No to tell If the remainder
Is 3.

1 point
92,52+ 6=48R7 OYes & No
9b.351+6=58R7 & Yas O No

B¢ 1,348

=192R7O Yes

9d. 2,699 ~ 8 =337 R1 & Yes

@ No
O No

10. Mario has 40 books and 5 nephews, He
gives the same number of books ta each
nephew. Which equation shows how to
find the aumber, b, of books Marlo gives

each nephew? 1 point

40hooks

qﬂﬂlﬂﬂﬂl

wach nopliew

@

4W045=p
OX5=h

© 40-

3. Thedistance from Columbus to Lexington
s about 200 miles, Mrs. Potters goal Is to
drive to Lexington in 4 hours. How many
miles does she need to drive each hour to

meet hergoal? 1 polnt

50 miles

Bhstesiment @

St S Pumsop et e o B g Pt 4

12, There are 331 cars parked on 4 different
foors of the parking garage, There are
about the same number of cars parked on

|
H

15, The fourth graders are going to the
theater to watch the movie verslon of
the book they all have read,

each floor. Selact all the that
are reasonable estimates for the number
H of cars parked on each floor. 1 point
(3 40.cars, because 331 + 415 about
160 + 4.

80 cars, because 331 + 4 s about
320 + 4,

O 40cars, because 331 + 4is about

360 + 9.
100 cars, because 331 + 4 Is about
300 + 3.

) 60 cars, because 331 + 415 about
360+ 6,

Group Nomper of ;
1. Blaine's Class 27 i
s, Hatch's Class 28 i
Miss Rupert's Class 31 §
Mr, Lang’s Class 29 i
Teachers and Chapetones | 11

Ezch row seats 9 paople. How many rows
wilt be needed to seat averyone? 1 point

13, Use an algorithin to find the quotient,
H Choose numbers from the box to
compiete the calculations, Use each
number once. 1 point

16, Tanjt was asked to find the quatient
for 88 + 4, He drew an array and used
the Distributive Property to find the
quatlent. Show Tanjis wark. 2 polnts

|

17, The Comlc Depot gives customers a free
comic book when they purchase 9 comic
books, How many free comic books can
Marci get If she buys 68 comlcs? How many
more comic books does she need to buy
to get her naxt frae comic baok? 2 points

21, The 5 fourth-grade classes at Brown
Elementary ralsed a total of $2,462 to

purchase playground equipment. Write
and solve an equation that shows one

way to estimate the amount raised by
fach class, 2 points

7 free comic books;
4 more comic hooks

£ 18, Estimate 347 + 6. Explain how you
<an use multipiication to estimate
the quotient. 2 points

|Sample answer:
6 X 6 = 36 and
6 X 60 = 360, So,

347 + 6 is about 60.

Sample answer:
$2,500 + 5 =

22, Draw lines to match the equation to the

correct missing number. 1 polnt

19, Chl has 144 books to place equally on
ot

8 + 4 =
= (B0 + 8] + 4

= {80 + 4} + (8 + 4)

14, Jerry needs 1,800 pennies to fill
i 6 jars. He will put an equal number of
penntes in each Jar. How many pennies
will Jerry put In each jar? What basic fact
did you use? 2 points

300 -pennies; 18

=20+2

=22
2
5% feged
f=1-]
4 00
. 0 00

Ut < e osnon e o e oo o4

Which equation can you

use to find how many books will ba an

each bookshelf? 1 point

® 1axe=b © 144+

® 144+

; 20, Draw a plcture to explain why
St =141R3. 1 point

Sample drawing:

D

23. Mr, Draper uses 8 nalls to secure each
board of a fenca. If there are 500 nalls
In 2 box, about how many boards
Will Mr, Draper be able to secure? Use
compatible numbers to estimata the

number of boards, 1 polnt

Sample answer:
480 + 8 = 60; about
60 boards

o e e e G s et €

The Topic Assessment Masters assess the same confent item for item as the
Topic Assessment in the Student’s Edition.
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about 450 + 3.

() 200 students, because 472 + 6 is
about 1,200 + 6 = 200.

—

14.

. Use an algorithm to find the quotient.

Choose numbers from the box to
complete the calculations. Use each
number once. 1 poink

156 01
3468 _
-3
76 56
15 8 8
18
-18
0

Carla needs 1,600 beads to make
8 necklaces. She divides the beads
equally. How many beads does Carla use
for each necklace? What basic fact did
you use? 2 points

ﬁwoo beads; 16 + 8 = 2 p

® standard DOK

4.NBT.B.6 1

4.NBT.B.& 1

groups will be needed so everyone can

see the exhibit? T peint

16 groups

16. Albert was asked to find the quotient
for 63 + 3. He drew an array and used
the Distributive Property to find the
quotient. Show Albert's work. 2 peints

63 +3 =
=(60+3) =3
=60 +3) +(3+3
=204 1

Topic 5 _ Assessment

(VR V|

321

VN Lo AN

Sample answer: 5 x 5 = 25
and 5 x 50 = 250. So,
257 + 5 is about 50.

19. Alex has 128 photos of his friends to
display equally in 4 photo albums. Which
equation can you use to find how many
photos will be in each album? 1 point

® 128—-4=p © 128+4=p
® 128+4=p © 128x4=p

20. Draw a picture to explain why
657 + 5=131R2. 1 point

Sample drawing:

s

aL Q.

322 Topic5 _ Assessment

item Analysis for Diagnosis and Infervention

G51, G538,
G54, G56

AUUIDUN WEOSLEY

tem & Standard

98+ 5= 19R

23. Holly uses 7 sheets of tissue paper
to make one flower. If she bought
a package with 500 sheets of

tissue paper, about how many flowers

will Holly be able to make? Use
compatible numbers to estimate t
number of flowers. 1 _uom:»

he

Sample answer: ]
o0 +~ 7 = 70; About 70
tissue flowers

DOK MDIS

4.0AA3, 1

4.NBT.B.6 1

321-322



@ Exit | Topic 6 Online Assessment

4 0A 4.

Choose the correct phrase from the box to complete each statement.

[ more than J [times as many as 1

100is 4

25.

72is 8|

|64.

85 is 15 : 70.

88is4

22.

Review progress

Question

of 6

Go

€& Back

Next =




G Exit | Topic 6 Online Assessment

.04 A7

Marvin wrote a list of expressions and a list of solutions.
Drag the correct solution to match the expression.

Lo ][] [=2] [a=2]

Expression Solution

6 x 22 I:I

64 is 8 times as many as w I:‘
4 times as many as 8 I:]

20 times as many as p is 120 I:I

Review progress ~ Question| 2 of6  Go € Back Next =




 Exit

Topic 6 Online Assessment

Y044 2

Paul raised $48 for a local charity. Sara raised $8.
How many times as much money did Paul raise than Sara?

©

A.

384 times

56 times

8 times

6 times

Review progress

Question

of 6

Go

€ Back

Next <




O Exit

Topic 6 Online Assessment

H0A 4 2

There are 35 members in a music club. All of the members, except 4, went to a concert.
What was the total cost, t, if the concert tickets were $8 each?
What is the hidden question and the solution?

U A

How many members are in the club? t = $32

O B

How many members are in the club? t = $280

How many members went to the concert? t = $248

&
o

How many members went to the concert? t = $280

Review progress Question| 4 ‘of 6 Go

€ Back

Next =




O Exit

Topic 6 Online Assessment

L}.OA. # 3

Brianna spent $65 on necklaces and bracelets at a crafts fair.
She spent $23 on bracelets and the rest on necklaces.

If the necklaces all cost the same and Brianna bought 3, how much did each necklace cost?

O A
© B
® c
O D

$14

$13

$24

$15

Review progress

Question

of 6

Go

& Back

Next <




G Exit | Topic 6 Online Assessment

4.0A 4 2

How much does it cost for 2 small one-topping pizzas and 3 large two-topping pizzas?
Enter your answer in the box.

Size |One Topping|Two Toppings

Small $6 $8
Medium $8 $10

Large $11 $13

s

Review progress ~ Question| ¢ of6  Go € Back Next =
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Q Exit

4 oA B.Y

Drew wrote 4 sets of numbers. Which sets show only multiples of 77?

Call quesjf NI

1, 7| Choose.. ']

7, 14, 21, 28| Choose.. ¥

7,35, 70, 77
1,7, 14, 35! Choose.. V‘

Review progress Question

of13

Go

& Back

Next =<




G Exit | Topic7 Online Assessment

Which statement is true?

@ A

The only factors of 4 are 4 and 1.
& B.

The only factors of 6 are 6 and 1.
@ C.

The only factors of 7 are 7 and 1.
& D.

The only factors of 9 are 9 and 1.

Review progress ~ Question| 3 of 13  Go & Back Next =




Topic 7 Online Assessment

QO Exit

’

Choose the correct words to complete each statement.

[ prime ][ composite

21isa number.
23isa number.
29is a number.
3lisa number.

Review progress ~ Question| 4 oft3  Go € Back Next =
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G Exit | Topic7 Online Assessment

Levi is learning about multiples and factors. He wrote 3 multiples and 3 factors for 27.

Part A
Which set shows only multiples of 277

& A 1,927 &
& C. 3,927 @)
Part B

Which set shows only factors of 2772

@ A t,927 @

® C. 918,27 ®

B. 9,27,81,243

D. 27,81,243

B. 1,3,27,81

D. 1,3,6,27

Review progress ~ Question| 6

of13

Go

& Back




.

G Exit | Topic7 Online Assessment

Kym wrote a list of factors and a list of multiples.
Drag the numbers to match the multiples with the factors.

|33 ]| 16 || 48 || 69 |

Factors Multiples
[
° ]
| ]
s | [

Review progress ~ Question| 7 of 13 Go € Back Next =»




G Exit | Topic7 Online Assessment

Tamara says factors and multiples are refated.
Complete the statement about the equation 5 x 8 = 40,

of 5 and 8.

<

5 and 8 are| Choose... v|of 40 and 40 is a | Choose...

Review progress ~ Questionj 9 ofi3  Go € Back Next =




G Exit | Topic7 Online Assessment

Which lists all the factors of 167

G A 1,2,4,8,16
© B. 1,2,8,16

B C. 1,4,16

o

D. 2,8

Review progress ~ Question| 10 |of13  Go & Back Next=»




G'.Exit Topic 7 Online Assessment

Drag the numbers to the correct box to show the factors of 24 and 42.
Numbers may be used onhce, more than once, or not at all,

BRIl

Factors of 24

Factors of 42

Review progress ~ Question| 12 |of13  Go € Back Next <
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Name

1
b il
4
"
,.n‘ 3 q { I Waran L’W\ B Jane's
i U pana Birdhouse Birdhouse
- 5 ¢ | Sample answer: Jane's
ry a3t ! birdhouse is larger than
- m = w. Less Than 3| Equalto 2 W_n._wm.i_ml—mm_‘_.mvr:»mmv ........ !
3 8 o
8 1 , 2 a1 Sampleanswer
Da, - Mrs. Nanduri and Kanan; L
ﬂa.m meia_m ._le by w“ 3
’ : ﬂmmma:?m_m::om. ! ol
B §
i , W , g
= : _n_:v..s_ Sample m:mimnw = _g
Ea . z” mmm less than Wh w:n_w =
d ikt w‘. m is greater than W
: 1 ha ' mo‘w < m ! g
Y
N B
¥ L
N i
o ltem Points Topic Assessment (Student’s Edition and Masters) W
wo ] 1 Correct choice selected
2 2 2 Correct answer and explanation The Topic Assessment Masters assess the same
o4 1 Correct answer or explanation confent item for item as the Topic Assessment in
e RS S e e R PSR the Student’s Edition.
ﬂ.‘ 3 1 All correct choices selected
B e i s S S BT AT THTEE SHE Semmmis 5 ki o snn e e R s SO S S S S S S £ e
. 4 1 Correct explanation
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3 Topic Assessment Masters ltem Analysis for
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mw Name . — ”

’ DOK MDIS

B _ H38

) | ww::.__m answerrTammi || (D Eml STTam [ [ T e i s e e e S e e e e s e e e
d Orlando are bott

" correcthgcause 1 H39

a\ 22,3

=13
gtatz=15and

® Yes (1 No

. 2 points
) Yes @ No

(1 Yes @ No mm_d_u_m answer:

ncups
® Yes () No

m of the students A 6.

=

3 1
27 + 13 = 4cups

1 H38, H39
H40

uonip3 seyopsl @ spoio

7

Less Than 1
12 _
12

a. Sampleanswer:Add) | L
the whole numbers and
the fractions; 2 + 1 4
A.TMHmm:n_w,,...w_,T )
LA S e
3 Tufalm.\_,m¢ 23
S8gcwes
et @G bt e et 4

-
N
0103 Rj= WIN

i

'

' ltem Points Topic Assessment (Student’s mm:_o: and Masters) ) !
................................................................................... st The Topic Assessment Masters assess the same

* 1 1 All matches correct content item for item as the Topic Assessment in
............................................................................................................................. _._.d@ m:hﬂ_@—.:\m ml:._o:.
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~mr
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Name

Expression Product
© Yes () Na ¥ T 8k I

3 x a3

N o
® Yes () Mo v \A
U1 Yes @ No !

@ Yos

mm::.._mm:msmq 13 Zcups;

3+4= w_umnn__m?

NXH >o«._ cups

‘ mwmm

ltem Points Topic Assessment (Student’s Edition and Mas

Correct equation and answer
1 Correct equation or answer

All correct choices selected

m\_w cups; Sample answer:

w ik H = wln:_u of nuts

per Uma 11 % ; ww

or mm cups

ters)

ltem Analysis ?m.
Diagnosis and Infervention

ltem @ Standard DOK MDIS

5 4.NFB.4b 1 H47
6

@ N

ANEB.4e; MP.4 3 H38,H47
The Topic Assessment Masters assess the same

content item for item as the Topic Assessment in
the Student's Edition.
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ltem Analysis for .
Diagnosis and Intervention

44_ " Name

helow, Select all the
5. 1 point

DOK MDIS

| 4.MD.B .. 160, 169,
171

&1 yards and Nw yards

onger than

thalength of

uolipg s,Jloyoosl @ spnio

B | & i
4 W
N S 2 H46, 171
e 1 171
235 gallons; Sample ¢ [ Ssficesoampleanswers | | W% Bl L B s i SUEE T Bt s snts s s S e 5 £
answer: 5 — 21 = o1 i 5 X 8 = 40 slices;
. 3 FEET U | eenee e 2 160, 169
19 (3x3)-(ax4) =37 S a————
w | lices eaten; 40 — 37 = 3, ._ _Oo _00
a R @ I O SOOI .- i SRR
p e | 2160, 169,
. [71
= TS, o
4 ] 171
N
,H. The Topic Assessment Masters assess the same
A contfent item for item as the Topic Assessment in
4 llem Points Topic Assessment (Student’s Edition and Masters) the Student's Edition. <
EN
’ ©)
1
-y
r.i m
“
W 4AA 1 Carrect lina nlat m
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ltem Analysis for
Diagnosis and Intervention

-7

Name

-

/
10. Explain how to find the sum of
o

Capigtr | ltem @ Standard DOK  MDIS

Sample answer: Multiply |
h ! the numerator and AN . u./,.
w | n_m:cam:mﬂo.‘cmwlmg:cs ._ «..mz“—m N .0 ._ I ._ M
o getan equivalent fraction| | o winie wiate aisaae eiess ash
5 Art Supplies ] ! «%@. and 0.49 q with a denominator of 100. M
‘ Tray of W 078 i Then mm_a the numerators b
Watercolor 5345 | iy - and write the sum over i
s 100.50, -2~ 4 L. = 12
$17.50 -50, 755 70 100 i
2. 3 S e i s
Part A | *
LY 10 R
y Naes Marla have enongh money for all | 30 e tielow; i
three items? Explain. 2 points | 10 485 km
I R : \ 03 | S1nkm
Yes; Sample answer: i i = i i
U Maria has $37.83; $8.78 + | | = | ‘ e 1 | aoskm
p 3

$3.45+$17.50 = iy

il plot the length

uoljip3 sJayons| Q appnIo

$29.73 and $37.83 > | comparison is correct, 1 point 63k Fouie. 2 POINS
\ Same ® s7a6 $29.73, so Maria has M“. “MM““M “” “M “ ”“ o |
u ® s606 ® %iEs enough money. . g PO |
- I —— | S

PartB |

< an art hnak on sale for $12.00,

hos
ne, 1 point

=7

Q

No; Sample answer: She 1 0 z

Point C; Sample ) ! 1 z e e
answer: 0.75 is $ , needs $3.90 more to buy | | : R e No; Sample :
o and the number line all 4 items. i Sample m:mém.‘uw 0.05 means »_;nm.o:oo f
q - v i beads were red. Nina !
is divided into tenths. H 50 ead i
Point Cis at 0.7. i use , not 5, red beads.

) et s i o Nt e it s

A
’ 11 ANFC.6 H25
) 12 H32
> The Topic Assessment Masters assess the same

content item for item as the Topic Assessment in
A the Student's Edition. <
/ o)
:
' -
) ltem  Points Topic Assessment (Student’s Edition and Masters) ltem Points Topic Assessment (Student's Edition and Masters) m
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ltem Analysis for .
Diagnosis and Intervention

e equation 12. The pages in Erin's alluim are 10 inches
wide and 12 inches lang,

O Yes ® Na
es @ Mo
Bc.5m - 500 cm @ Yes () ho
© Ye

Pets
Beach Vacation

point

answer: | converted
all measures to cups 4
and then compared ﬁa.moc meters

page? 1 point,

Container B = 6pt =

252in. 12 cups
| \ Container C = sz - : '
M/ B0 0z -
A\ Area of pictures: 40 -- i
PTANS
f / 10,000 Iy 12 4 20 + 24 =

Bain.

uoip3 sJeyons] € spnio

96 sqin.

Area left for additional
pictuves: 120 — 96 =

a;a = 35square feet

5,00

0 Emmmqm

4,000 m

4,000 mm

4,000 mg

4,000 mL

1 134, 170

1 123, 125,
127,132,
135, 170

2 123,135,170

ltem Points

4 2 Correct equation and answer -MD.A.G
1 Correct equation or answer

1 123, 125
127,135, 170

¢ AIANNTOA




. N
8y

[15] (200 |25) | |

e front of

therule, 15 4 5 = 20,
20 + 5 = 25, and

25 + 5 = 30.
PartB
Describie two f

Sample answer: All of
the tag numbers are
multiples of 5. The tag
numbers alternate
cm:zmm: even and onn_.

2 points

.wo mm_:v_m answer: cm_:m_

Number of
Dollars
Number of
Dimes

Lol

* 4 packages '\ aBboxes
_ 20 packages ' 32 biowes
‘ m‘E_...‘S&‘ 120 bioxes
| 15 packages 160 boxes

atement is troe? Use
inExercise 3. 1 po

2.8,2,6,3,2,8,2,
25 mm:::m answer: 4_.m_m
are5 repeating
numbers in the pattern;
23 + 5 = 4R3.The
pattern will repeat
4 times. The third
number in the pattern is
the 23" number.

How many bracelets can be formed witl
81 links?

® 5 bracelets
® 8 bracelets
@ 9bracelets
® 90 bracelets

The number of dimy
of the number of dy

mber of doll,
e number of dimes,

arsis a

is

factor

amultiple

-y

. Choose

8, 16,32,

box ance. 1 point

6 4

1

Nm.

Correct answer and mxb_

|
|
i

|

=m3 Points Topic Assessment Am_.cn_mim Edition

+ 8. Martiwrote different patterns for the
f rule"Add 7 Which p, I Marti
have written? 1 p
i 8a.1,7,14,21,28 U Yes @ No
Fa
{ v? i 8b.7,14.21,28,35 @ Yes (1 No
- 5
i 8.3,10,17,24,31 @ Yes () No
8d.70,63,56,49,42 () Yos @ No
he ruleis

repeating patf
@ the o
[

e repeating

12,18, 24; mm::_u_m answer:
Multiples of 6 malke the
rule “Multiply by 6.

1 Xmum..wxmﬂ._mn
3X6="184x6=024

N}

and Masters)

anation

1 CArrant Ameviime mve vl e

- The rule is“Subtract 47 What are the next

three numbers in the pattein? Nescribe
two features of the pattern. 2 points

48, 44,40, 36, 32, 21

24,20,16; mm_::_m
answer: All the numbers
are even. All the numbers
are multiples of 1.

3

item Analysis for
Diagnosis and Intervention

@ Standard DOK

MDIS

_“mm

W N

8

The Topic Assessment Masters assess the same
content item for item as the Topic Assessment in
the Student's Edition.

_33 Points Topic Assessment (Studeni’s Edition and Masters)

Correct numbers, answer, and explanation
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Name

a

aray and form
Y

a!

[ 72" 216"

‘|a)

@’

d - o
$ofadicle 7 72

|
[
[
|

fofacircle \_, 180"

_\‘
30"; Sample answer:
There are 5 pattern blocks.
LRST measures 150",

Qr

uolipd s, Jleyonsl @ sppio

FEGR o 2y
Sample answer: 150" + 5 = 30",

LW

- 60" = LABC.
LABRC = 30"

Q)

Check students’ drawin

Sample u_._u?.m .,>Q:m
LBEF; Right £AED;

Obtuse 2BED 8 #ZUOM@ ] |1 8

S ? 4.MD.C.5 1 I3

Q)

45" + 60" = £BEF;
" :‘mﬁ = 145"

qr

av

qr

Qr
@
e
®
>

w

|V

The Topic Assessment Masters assess the same

content item for item as the Topic Assessment in
the Student's Edition
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Name

to describe two streets

” length and opposite sides not at a right angle. Wi i
| 1. 1 point Nikko use? 1 point |
! | ® Yes O No ?|n||t4|.: P yﬂ
; ecting line
Explain. 2 points | 7b.Rhombus © Yes () No JDIEEECUNG NG

Parallelogram; Sample
answer: A trapezoid

is not a parallelogram
because it only has one
pair of parallel sides.

7¢. Parallelogram 01 Yes ® No

N7 i
nVW 2 7d. Trapezoid O Yes © o
cosWEZ o |
7RI 8. Marina drew an e I triangle
Z
& \\_r/
]

2. Anna chose these shapes

ngle XYZ. Marina mea

4

are the len
ngle?

Snowfloka

| = AR s

7 inches; Sample answer:
All three side lengths of
an equilateral triangle
areequal;21 + 3 =7

has exactly two
1 paint

N can be made about
pes Anna chose? 1 point

Flowar
© Snowllake
@ Flower

©

. Which set of angles could form a trangle? Sample answer: The

, i v i
| | @ Upoint shapes in the top row
i 6. describies | ® nclude obtuse angles.
htangler | = 2 :
s | © t angles, one acute angle The shapes in the bl

® angle, ane obtuse angle, bottom row have no

3 points

@

. Camplete the drawing so the figure is
I .1 point

an use ta name the figure? 1 point

Right trapezoid .. )
Perpendicular  Parallel < §
| lines lines e . -
: . i
| Line segment w . E i
! S e - - . «
! - - . . . SO

ltem Poinis Topic Assessment (Student’s Edition and Masters)

1 2 Correct answer and explanation
1 Correct answer or explanation

| Correct choice selected

4 1 Correct answe

obtuse angles. £

ltem Analysis for .
Diagnosis and Intervention

© standard

w

4
o

6 3 12
N e e, _ ..... _o
o&ﬂ@ﬁw S8 i e w _m

The Topic Assessment Masters assess the same
content item for item as the Topic Assessment in
the Student's Edition.
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